
Properties of L and U

A direct calculation gives

L =

 1 0 0
2 1 0
−1 −1 1

 ,U =

 2 1 1
0 −8 −2
0 0 1


U is the Echelon form of A and it is upper triangular with the pivots on
the diagonal. L is always lower triangular with 1’s on the diagonal. L can
be constructed directly from the multipliers in G-E. In general

E =

 1 0 0
a 1 0
0 0 1

 ,F =

 1 0 0
0 1 0
b 0 1

 ,G =

 1 0 0
0 1 0
0 c 1


and so

L =

 1 0 0
−a 1 0
0 0 1

 1 0 0
0 1 0
−b 0 1

 1 0 0
0 1 0
0 −c 1

 =

 1 0 0
−a 1 0
−b −c 1


i.e. the negatives of the multipliers appear below the diagonal.
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